| > restart;
| > with(LinearAlgebra):
> M:=Matrix([[ xA , yA , xA*2+yA*2 , 1 ],
[ xB , yB , xB*2+yB*2 ,
[ xC , yC , xC*2+yC*2 , ,
[ xD , yD , xD*2+yD*2 , 1 11);

xA yA x4 +y4 1
xB yB B+ yB2 1
xC yC xC* + yC2 1

xD yD xDz-l—yD2 1
> W:=Matrix([[ xA , yA , 1
1

1]
1]

’

)

[ xB , yB , 1]
[ xC , yC , 1]

xA yA 1
W=|xB yB 1

xC yC 1
=> Determinant (W) ;

i xAyB —xAyC —xByA +xByC +xCy4 —xCyB
[> Determinant (M) ;

xAszyC—xAszyD—xAszyB +xA2nyD +xA2nyB—xA2nyC—xA szyC
+xAszyD+xAxC2yB—xAszyD—xAxDzyB+xAxD2yC—xAszyC+xAyB2yD
+xAyByC2—xAyByDZ—xAyC%ﬂ)+xAyCyﬁp+m¥nyA—adfnyD—aufnyA
+tdfnyC¥—xBxC;yA-%xBxCQyD-FxBxLFyA——xBfoyC“+xByAzyCU—xByAQyD
—xByAyCZ+xByAyD2+xByC2yD—xByCyD2+xC2nyA—xCanyB—xCxDzyA
—|—xCxD2yB—nyAzyB-I—nyAzyD-I—nyAsz—nyAyD2—nyBZyD—i-nyByD2
-I-nyAzyB—nyAzyC—nyAsz—|—nyAyC2—l—nyBzyc—nyByC2
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